Efficiency vs Dxy(PV)

5 10 15 20
TP dxy(PV) (cm)

—=— DQM_original_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquare5_step2_tthar-phasel-newgeom

| Efficienc] —— DQM_pixelCPETemplateCutChiSquare5Test_step2_ttbar-phasel-newgeom

< 0.5

>

o
)
ol
S L s L) e LALAs LR L e L

20 02 04 06 08
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

< 0.3
%.009
kel
9,008
>
3.007
8
2.006
()
0.005
0.004
0.003
0.002
0.001

<0.05¢

TP dz(PV) (cm)



	Contents
	Page 1


